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Home Science

Paper 1II

g faam
gyutrent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. @d U Wi

A : A TRAUGERG THU WX (100) SgTaEl U ol oed. Todsh WA g (2)

The following period of exploration
individual’s commitment to values,

beliefs and goals is :

(A) Identity achievement
(B) Identity moratorium
(C) Identity foreclosure
(D) Identity diffusion

One of the following does not include
the Acts of Child Labour :

(A) Child Labour Prohibition and
Regulation Act (1986)

(B) Juvenile Justice (Care and
Protection) Children Act (2000)

(C) Offences of Harassment under
Protection from Harassment Act

(1997)

(D) The Mines Act (1952)

1.

Jafae Ul qod, 9§ 9 S

gefid Tl Tl hies

(A) RN AlB@

(B) uRusad=] 3Med
(C) HISERIE i@

(D) JERT=T 3Teed

STeTeh TSR =T ShTIRITY Eceiieh] Teh
AN e A

(A) =TS el Ngsler o TIvH 3T
(1986)

(B) “J&al SR (haR 78 UIoaT )
faeea sfae (2000)

(C) 3HHH 3k BT 3T WIeaR™
HH gEHS AR (1997)

(D) € #HEH A+ (1952)
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Client centric approach focuses on :
(A) Unconscious process

(B) Past conflicts

(C) Conscious process

(D) Childhood fantasies

What is the first phase of the life
cycle most middle-aged couples go
through ?

(A) Widowhood

(B) Retirement phase

(C) Child launching phase

(D) Childless preretirement period

The terms masculinity and feminity

are most closely linked to :

(A) Sexism

(B) Gender

(C) Patriarchy

(D) Sex

What determines ideal parenting ?
(A) Role model

(B) Adequate supervision

(C) Monitoring

(D) Instruction

JUN - 17220/I1—D

FAEe Wil ST WX el e

(A) INMTEeh Hishal

(B) Ydshawrel faam

(C) SIFTeeh Hfehdr

(D) STTYUICe hieqfdeh TSl

Sgdeh HEAH NIl Sed S{a =shr=l

FHI Afgedl TOANA Sa 2
(A) fagan

(B) THadren <o
(C) o dffe=mt Zod

(D) STIE FHAA FeHAT T hled

TEO F e A1 Fefl ThHR I Sretiere
frfed oTed

(A) Stz

(B) STeX

(C) Uttt

(D) =

3Tl Uretehed 1A SRfad ?
(A) qa A

(B) & wHa&

(C)

(D) =




In which type of family parents,
grandparents and relatives live
together growing more and more

common ?

(A) Nuclear family

(B) Joint family

(C) Extended family
(D) Multimember family

Which of the parenting styles given
below encourages to behave with

little intervention ?
(A) Authoritative
(B) Authoritarian
(C) Permissive

(D) Democratic

The type of hormonal changes
typically experienced by middle aged

men :
(A) A dramatic drop in testosterone
(B) Increase in appetite

(C) Unable to father a child

(D) Psychological adjustment to
declining physical energy

JUN - 17220/I1—D

FIVAT FHZAHE TTeTeh, STST-3TS& 9

EIREIEE R CIER! RS ST ST STeard 2
(A) fawe Hea

(B) ThAd Hed

(C) fowmia Hd

(D) EESENT H2d

ETeftel feeamisht SRVt arershear=t et
Sl TR AU el FIedTed od ?
(A) SNfRTdes

(B) sArenfiefzm

(C) wHifSa

(D) SHBhR®

AT A e Il FehieA SHAA

ATl | 3TYadl 2
(A) TEETATA gl T
(B) 4& @l

(C) o= JEia WA TFqe

(D) oifgewr = FHAAA HAHSR

THESH
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10.

11.

12.

A concept of sandwich generation

refers to :

(A) One responsible for both for
bringing up their own children

and care of their ageing parents

(B) One responsible for both work

and family

(C) One responsible for spouse and
children

(D) One responsible for both friends
and self

Fallopian tubes are tied off :
(A) Vasectomy

(B) Tubal Ligation

(C) IUD

(D) Abstinence

What does the acronym “Pocso”
stand for ?

(A) Permitting children for

socialization

(B) Protection of children from

sedentary offers

(&)

Protection of children from

sexual offences

(D) Provision of children for sexual
offence

10.

11.

12.
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UGS UTGTehl= Shlcastl Bl 3TeM

N o =~
GQlell SidlagX Al

(B) S f &m™ & s2a SN A
SEIEHIEEEeR]

(C) < o SICRR & Hol /M =0T

STTEIER 379

D) s fo f93 9 @=d: swm =i

SEIEH e LR

N

HATTIT AN T SEAH AT
SHAIT ¢

(A) =EerH

(B) g fereH

©) ¥ 7. .

(D) SATifeTa

‘el HET w9 RO

(A) TSI IROTA Her=l WRar <o

(B) ST T[-aadEA Halrd H&TT

(C) i TTRaTIRA Haue GX&

(D) ©ifiTeh TEameRe Hele! Tqs




13.

14.

15.

16.

Role play forms an example for :
(A) Expressive technique

(B) Association technique

(C) Constructive technique

(D) Completion technique

Method demonstration works on the

principle of :

(A) Learning by doing
(B) Learning by believing
(C) Learning by teaching
(D) Seeing and doing

At which place did Mahatma
Gandhiji

project ?

start his Sevagram

(A) Wardha
(B) Pohri

(C) Gwalior
(D) Rajkot

The main aim of the Community

Development Programme is :
(A) Cultural development

(B) Technological development
(C) Socio-economic development

(D) Political development

13.

14.

15.

16.
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AR TR SEihHTET §&d 3539 ¢

(A) TiEhfas faswm
(B) difsrs foma
(C) wmIfSTeh-aTfefer fashm

(D) UShig faermd
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17.

18.

19.

20.

Mid-day meal scheme covers

children studying at :

(A) Primary level

(B) Secondary level

(C) High School level

(D) Out of school children

The concept of multipurpose village

level worker was evolved from :

(A) Community Development

Project
(B) Etawah Pilot Project
(C) National Extension Service
(D) Gurgaon Project

The use of computers in technology

transfer is :

(A) Emancipatory extension
(B) Participatory extension
(C) Cyber extension

(D) Broad based extension

Which of the following is associated
with the Panchayati Raj ?

(A) Shah Commission
(B) Nanavati Commission
(C) Balwant Rai Committee

(D) Royal Commission

17.

18.

19.

20.

JUN - 17220/I1—D
HEATE IS A ol W RreRom=
o=l FHER Bl
(A) WafHe &R
(B) #reAfieh w1
(C) BEERd &N
(D) TMessediel qol

FIT HeheuT1 faenfad e

(A) 9HeTiaeh fam™ gehcd

(B) sd@l U¥eiE Wehod
(C) U= fo=r e
(D) TEME Yhed

T SRIAROTHE  EFIUehT=l aTH
(A) g fowr

(B) Hewrft foan

(C) ¥R fa&r

(D) STehdal 3ERa faer

GTATTdh] I GEEGUSYT Fsiferd
e ?

(A) TME A

(B) AMeEl ST

(C) Foea T it

(D) WaA ST




21.

22.

23.

Which of the following is not a

principle of effective communication ?

(A) Persuasive and convincing

dialogue
(B) Participation of the audience
(C) One-way transfer of information
(D) Strategic use of grapevine

Communication with the help of new
media (computers-internet and

mobiles) is termed as :

(A) Entertainment

(B) Interactive communication
(C) Interpersonal communication
(D) Group communication

Video-conferencing can be classified

as one of the following types :
(A) Visual one-way

(B) Audio-Visual one-way

(C) Audio-Visual two-way

(D) Visual two-way

21.

22.

23.

JUN - 17220/I1—D

Eeileen! HIvd YT HISOME o<
qEr ?

(A) HAISAUR 0T TR HAR
(B) U&TehT=l HEYTT

(C) Tifedi= T &L

(D) ST EE AT ST
T HIETHTAT  (HIUTh-32XAS ST
gUUIEa]) A BIOM=AT YT

(A) FARSH

(B) HeEHs: FATT

(C) TWER FaR

(D) e HYEO

fegStalt Sirf~aT Wefierish! T U

Mihd el S Tehd

(A) Thdhi gh AEA

(B) Thdhi HATE LA

(C) AR ThATA LA
(D) TA% g @A
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24.

25.

26.

A short series of lectures by 5-7
experts on a subtopics of a main

topic is called :
(A) Lecture

(B) Workshop
(C) Symposium
(D) Conference

Any idea or practice which an
individual perceives to be new, it
is :

(A) Adoption

(B) Transformation

(C) Innovation

(D) Diffusion

A combination of adult education

and informal education is called :
(A) Education

(B) Extension education

(C) Formal education

(D) Non-formal education

24.

25.

26.
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qe forsrr=an sufases fasmer o= d

A T A Teh T Jeera

................. S
(A) e

(B) wrfemad

(C) HfEaT

(D) Tfeg

SISl el fohal Igd Sesl TER!

ZEt T WAl o ¢
(A) TEU I
(B) w&aaid

(C) fa=rgul 2T
(D) FEIRd o
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27.

28.

29.

In extension education the audience

is :

(A) Homogeneous and diversified
goal

(B) Heterogeneous and common
goal

(C) Homogeneous and same
curriculum

(D) Heterogeneous and diversified

goals

The following represents the
Aristotle model :

(A) Speaker — Speech — Audience
(B) Speech — Speaker — Audience
(C) Sender — Channel — Audience
(D) Source — Signal — Recover

Learning in a non-formal education

programme takes place through :

(A) Democratic discussion and

dialogue
(B) Telephonic conversation
(C) Classroom interactions

(D) Internet

27.

28.

29.
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foear foreroma Yaes SO

(A) THERE o fafay &=

(B) fu=rar enfor W= &9

(C) THERE 37U THE ST1IHHH

(D) fy=rn eqfor fafay &=
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30.

31.

32.

33.

Field trip provides :

(A) Awareness through direct

knowledge

(B) First hand

experience

and direct

(&)
(D)

Practical knowledge
New experience

technique involves the

collection of primary data with the

use of questionnaire.

(A) Observation

(B) Survey

(C) Simulation

(D) Experimentation

Cohort study design is :

(A) Descriptive

(B) Experimental

(C) Longitudinal

(D) Exploratory

If a measure has high validity :
(A)
(B)
©)

low reliability is acceptable
it must have high reliability
reliability does not matter

(D) reliability is not important

30.

31.

32.

33.
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hice g0 UM 0 :

fay

(A) JA& AERE SofiE S
(B) WomgEft omfn yae Tgvd
(C) wrcafarsh M

(D) FeA eTIHa

gl a9 Tl ehell ST
(A) Teom
(B) wae

(C) AT
(D) T

HEe WSl SEET § B

(A) FUHTHS

(B) JaNTcHe

(C) dreepred

(D) F=roreh
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34.

35.

36.

The highest level of measurement

scale is :

(A) Nominal scale

(B) Ordinal scale

(C) Internal scale

(D) Ratio scale

The thick and thin data refer to :

(A) The qualitative and quantitative
approach

(B) Qualitative
(C) Quantitative

(D) Soft data
What is an observation schedule ?

(A) A set of explicit rules for

assigning behaviour to

categories

(B) A time table of days on which
you plan to carry out your

observation

(&)

A list of questions to ask your

intreviewee

(D) A way testing for measurement

validity

34.

35.

36.

JUN - 17220/I1—D

Tald Sod Ydtel AOd U8l WU
(A) TS Shed

(B) &feTat whet

(C) T Thel

(D) IRl whd

offsh affor forq €a1 YW ¢ ¢

(A) ToTCHE SO HEAHS T
(B) TUmcHR

(C) &I

(D) ¥we <

e yeHTee WU

(A) 9o FaAEel gErse  frEmmEn

g

(B) I oA Tieo v gae
s woaren fgad= e
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37.

38.

39.

Which of the following is
characteristic of action research ?
(A) Variables are controlled

(B) Data is qualitative

(C) Results demonstrate cause and

effect relationship
(D) Results are generalizable

The methodology of studying a
phenomenon over a different period

of time would be :
(A) Experimental
(B) Longitudinal
(C) Analytical
(D) Explanatory

Which of the following sampling
methods is appropriate to study the
prevalence of diabetes among male
and female in India in 1988, 1998,
2008, 2018 ?

(A) Cluster sampling
(B) Systematic sampling
(C) Convenience sampling

(D) Stratified random sampling

37.

38.

39.
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(A) =« frEt@
(B) € TUIHR

(C) Uftomeses erfor gfRome Heie
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(D) 9RO 9HE

AT HTATAE T T2 ST

FHLOAAT TGl
(A) TR

(B) el=iiged
(C) fowetoomersh

(D) TR IOMcHS

TeATTUeht IV AT Uged RaATde

%9 9 AfgaEie 1988, 1998, 2008 3T
2018 1 AHdiiel HYHG THIV STEATHUAH

IYYR g ?
(A) FTEL T TG
(B) fafedfes FqT1 uqed

(C) hf=gferH THA dYgud
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40.

41.

42.

43.

The goal of a formal study is to :
(A) Discover future research tasks

(B) Expand understanding of a
topic

(C) Test hypothesis

(D) Develop hypothesis

Oleic acid is an example of :
(A) Saturated fatty acid

(B) Polyunsaturated fatty acid
(C) Medium chain fatty acid
(D) Mono unsaturated fatty acid

Stability of egg white foam can be

increased by adding :
(A) Cream of Tartar
(B) Fat

(C) Salt

(D) Water

MPN test is used for the analysis
of :

(A) Meat
(B) Blood
(C) Water
(D) Fish

40.

41.

42.

43.
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T
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(A) 99 Tevemd
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44.

45.

46.

47.

Maltodextrins are prepared from :
(A) Sago starch

(B) Corn starch

(C) Milk

(D) Barley

Olestra is an example of :

(A) Fat substitute

(B) Sweetener

(C) Protein supplement

(D) Multivitamin supplement

MMR vaccination protects children

against measles, mumps and .......... .
(A) Rheumatic fever

(B) Rubella

(C) Respiratory tract infection
(D) Rickets

Collagen formation in the body

requires :
(A) Zinc
(B) Iron
(C) Vitamin C

(D) Vitamin D

44.

45.

46.

47.
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48. Which of the following vitamins | 48. @Teldehl HITM oo 1-He
provides the cofactor for the transfer A= IS Heuesd USH Hid 2
of one-carbon units ?

(A) g
(A) Thiamine
. . (B) THaIRife
(B) Riboflavin
(C) Niacin (C) TR
(D) Folate (D) e

49. Type of menu planned in a hospital | 49. T UMEANIA SF—THAq AT Shedl SR
food service. ATa TR Eefiade] hioal 2
(A) a’ la carte (A) IT-AT-h1
(B) Table d’ hote (B) =1 § B
(C) Cyeclic (OIESIRIENED
(D) Buffet (D) 9%

50. Infant mortality rate is difined as : | 50. 373hr= LAl Sl AT BN :
(A) The number of babies dying in (A) TIEET SO 1000 STASHTHN,

the first year of life per 1000 qfge Feid Jog ATEo=al STerehiE!
live births T
(B) The number of babies dying (B) TWEST U1 1000 STAShTH,
before one month per 1000 live SR Afeea Hig=ard §eg Jrem=
births STeTehTel HEAl
(C) The number of children dying (C) TIEET SAUTFAT 1000 STeTshTHAT, 1
between 1 to 4 years of life per T 4 TE1 SR IS TS
1000 live births STCThT< e
(D) The number of children dying (D) SIS SFHOTEAT 1000 STETeRTHT, 1
between 1 to 2 years of life per d 2 aul ST JIHET TSl
1000 live births STeTehTel Tl
17 [P.T.O.



51. Ketoacidosis is associated with :

(A) Liver Diseases
(B) Burns
(C) Cancer

(D) Diabetes

52. The hormone that stimulates

appetite and known as hunger

hormone :

(A) Leptin
(B) Ghrelin
(C) Insulin

(D) Estrogen

53. Test used for the assessment of

thiamin status is :

(A) Erythrocyte

Reductase Test
(B) FIGLU Test
©)

(D)

Activity Test

Glutathione

Relative Dose Response Test

Erythrocyte Transketolase

51.

52.

53.

JUN - 17220/II—D
RIS ETciTeTish! Shemen Hafed
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(A) FFHE ISR

(B) wrsTol

(C) =& U

(D) AYHR

RS o Y IS HId S0 Yo

TN WU See@rc S, T STeHeTdeh]

HE T ?
(A) wEH
(B) ¥

(C) Tgfem
(D) TEISH

WeATeeh! ShIUTT ST=oT Smfa—=aT gsire
eI IO e SR 2

(A) TRYMEEE e Rews am=vi
(2W)

(B) THSTISITeTY =r=oft
(C) Todes 2 U ==

(D) TRYEES ke TRl
1Al
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55.

56.

57.

the respondents are

expected to report the consumption

of each food for a specific period.
(A) Food inventory method

(B) Food frequency

(C) Food record

(D) Diet diary

Which of the following is a benefit
of physical fitness ?

(A) Decrease in lean body mass
(B) Increased bone density

(C) Increased risk of cardiovascular
disease

(D) Impaired immune system
Caustic soda is a detergent used in :
(A) Handwash liquid

(B) Cleaning glassware and

aluminium
(C) Cleaning silverware
(D) Cleaning wooden surfaces
Keratomalacia can lead to :
(A) Conjunctival xerosis
(B) Bitots spots
(C) Night-blindness

(D) Melting and wasting of cornea
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(C) TraEresqon
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58.

59.

60.

61.

Which of the following components
of fitness is defined as the body’s
ability to

exercise ?

sustain prolonged

(A) Body composition

(B) Flexibility

(C) Agility

(D) Cardiorespiratory endurance

Wool can be identified under

microscope by :

(A) Twists

(B) Striations

(C) Scales

(D) Speckles

Tussar, Eri and Muga are types of :
(A) Silk

(B) Cotton

(C) Linen

(D) Jute

A weave characterised by floats on

its surface is :
(A) Herringbone
(B) Satin

(C) Plain

(D) Twill
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62, i is a finish produced by | 62. T T gREsS e HhrasHed
pressing a raised design into a fabric. 3IMEER Srgmeal i et .
(A) Calendering (A) ersd
(B) Napping (B) dm
(C) Embossing (C) wwIrET
(D) Singing (D) f&fSm
63. Beam dyeing is used to dye : 63. | WO Yfshan & € TIfIuaEmet araiett
. i
(A) Fibers .
(A) dq
(B) Yarns B) =
(C) Fabrics (C) HTIS
(D) Felts D) ®ee
64. The traditional embroidery of | 64. F@=a WRFM TRA®MME T&I@
Bengal which mainly used darning S IEUREC IRC I L RS L
stitch is :
(A) gl
(A) Kasuti
B) e
(B) Kantha (B)
(C) Phulkari (C) Hererl
(D) Kashida (D) HfRwT
65. Colour fastners to rubbing can be | 65. SSUTYG TTEl TeRhdON TIEUMN el
tested by : SIEERE I
(A) Fade-O-Meter (A) He-3-HIX
(B) Launder-O-Meter (B) g
(C) Elmendorf Tester (C) THTSh X
(D) Crockmeter (D) wHIHHK
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67.

68.

fabrics are made from fibers

that do not require pesticides or

chemicals to grow.
(A) Up-cycled

(B) Regenerated
(C) Eco-friendly
(D) Re-cycled

Textile materials used to increase
soil stability and provide erosion

control are called :

(A) Nanotextile

(B) Geotextile

(C) Agrotextile

(D) Eco-friendly textile

............ is used to take an individual’s
body measurements electronically

for custom made pattern.
(A) Boarding

(B) Bilateral treaty

(C) Body scanning

(D) Cataloguing
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(A) A
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69. e part of sewing machine | 69. T T R Avi= vrm
regulates the length of stitches. TR AMEeR FEs Sae .
(A) Feed dog (A) e e[
(B) Shuttle race (B) A W
(C) Presser foot (C) T H2
(D) Stitch regulator (D) €= TR
70. The most suitable method of | 70. V' SThNr=A1 Teara TR sHeoar=h
finishing a ‘V’ shaped neckline is by Jgdh Aseht Ugd SUIART HEA hall
using : Sd
(A) Bias (A) 9"
(B) Fitted facing (B) ftres wfam
(C) Self-finishing (C) TeH-TRIARIT
(D) Frill D) ®id
Tl i, is a fashion characterized | 71. T B Y I fohar wreETe
by much crowd excitement or EICiE] aw s oy
emotion.
(A) &7
(A) Craze
(B) Trend ®) %=
(C) Classic (C) wATfEeh
(D) Fad (D) we
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72.

73.

74.

75.

Ruffles cut in circular manner from

fabric, that fall in folds are known
as :

(A) Jabot
(B) Cascade
(C) Cowl
(D) Bias

Which of the following terms is used
in Garment Industry ?

(A) Colour chart
(B) Measurement chart
(C) Spec sheet

(D) Grade card

Ability of fabric or yarn to stretch
and return to its original shape
when tension is released is :

(A) Pliability
(B) Elasticity
(C) Resilience
(D) Cohesiveness

Kneading and squeezing method is
used for washing Viscose Rayon
because it :

(A) has a smooth surface
(B) has low wet strength
(C) 1is expensive

(D) has poor absorption
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(A) et
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76.

77.

78.

In the care label system developed

by ASTM, a triangle indicates :

(A) Drying

(B) Bleaching

(C) Ironing

(D) Drycleaning

What is meant by suspended

ceiling ?

(A) Panels directly glued to the
ceiling

(B) A series of soffits that surround

the room

(C) A finished ceiling hung from the

ceiling by series of wires

(D) A series of beams and panels

making ceiling system
In dynamic muscular work :

The blood flow to muscles is

(A)

reduced

(B) The blood flow to muscles is

increased

(&)

There is no change in blood flow

level

(D)

There is reduction in heart rate
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77.
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(A) T ggequl foferen ameo
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e
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79.

80.

81.

82.

Which of the following is housing
finance agency ?

(A) MSEB
(B) HDFC
(C) IRDA
(D) BSNL

Split complementary colour scheme

uses :
(A) Opposite colours
(B) Adjacent colour

(C) Adjacent colours to opposite

colour
(D) Non-adjacent colour

The motifs that represent any

unknown form is known as :
(A) Abstract

(B) Geometric

(C) Natural

(D) Stylized

The resources that originate

internally are called :
(A) Community resources
(B) Non-human resources
(C) Human resources

(D) Material resources
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83.

84.

85.

86.

Heavy physical work can cause :
(A) Mental fatigue

(B) Psychological fatigue

(C) Transient fatigue

(D) Localized muscular fatigue

Human concept of management

emphasizes on :
(A) Increase in efficiency
(B) Job perfection

(C) All round development of family

members
(D) Increase in standard of living
Repetitive work processes lead to :
(A) MSD problems
(B) Blood pressure
(C) Workload increase
(D) Injuries

The buying process for a consumer

starts from :

(A) Information search
(B) Need recognition

(C) Alternatives available

(D) Purchase decision
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87.

88.

89.

90.

Those who often initiate the buying

proposal are :
(A) Buyers
(B) Deciders
(C) Sellers
(D) Users

Which is the source for assessing

training needs ?

(A) Performance evaluation
(B) Simulation

(C) Case study

(D) Role play

Peer performance appraisal is

carried out by :

(A) Immediate supervisor

(B) Manager

(C) Fellow employees

(D) Customers

The example of money income is :
(A) Teacher teaching own child
(B) Profit received from shares
(C) Rent paid to the landlord

(D) Using fruits and vegetables

from one’s garden
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91.

92.

93.

The full form of PAN is :

(A) Previous Account Number
(B) Present Account Number

(C) Permanent Account Number
(D) Permanent Accreditated Number

The heat that is trapped inside the

earth is known as :
(A) Thermal energy
(B) Mechanical energy
(C) Kinetic energy

(D) Geothermal energy

The hardwood like cherry, maple,

91.
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(C) THA= 3THEE TR
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(B) Befehet Tft
(C) HrEAfesh TS
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beech has ................. grains
(A) Light (A) Thee
(B) Dark (B) e
(C) Open (C) 3=
(D) Closed (D) FAS
94. The window covering made from the | 94. ISR dAfockd foel TR BIN
fabric is called : e .
(A) =AREA =68
(A) A venetian blind
, (B) @ed
(B) A curtain
(C) A drapery (©) 3w
(D) A vertical blind (D) =Eha =Ee
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95.

96.

97.

98.

Dizygotic twins are :
(A) Genetically identical

(B) Come from single fertilized egg
cell

(C) May be of same or different sex

(D) Are not really twins but only

appear to be so

Gifts and occupations are used to

guide and structure play :

(A) Head Start

(B) Froebel’s Philosophy

(C) Constructivist Approach

(D) Reggio Emilio Approach

The Waldorf educational approach

emphasizes balanced development
of :

(A) Head and Heart

(B) Heart and Hands

(C) Head and Hands

(D) Head, Heart and Hands
Ottis media is known as :
(A) Stomach infection

(B) Middle ear infection

(C) Children media

(D) Chest infection
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99. Biological ageing :

100.

(A)

(B)

(®)

(D)

Is an estimate of the individual’s
position with respect to her or

his potential life span

Is number of years that have

elapsed since a person’s birth

Refers to individuals adaptive

capacities

Refers to social rules and
expectations people hold for
themselves as well as those

others impose on them

Erikson used the term ‘Distantiation’

to describe :

(A)

(B)

(&)

(D)

Distance we keep between
ourselves and others during

personal conversation

Our ability to distance ourselves

from our family of origin

The time we need to progress
between one developmental

state to the next

The readiness all of us have to
distance ourselves from others
when we feel threatened by

their behaviour
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